+ T F & (=4 )
NAE L HEEET LY
(As7%) V= 89.50 X  0.10 = 8.95 m° 9,
2% t=100mm
NAE =l LT LY
(+w) V1= 89.50 X  0.10 = 8.95 9.
$%¢t=100mm
EHILEY
V2= ( 67.45 + 21.50 ) X 0.10 = 8.90
2% t=100mm
> = 17.85 m°® 17.
FHIA Fx ANSHEH] (Asi) L0
(AsH%) V= 8.95 = 8.95 m°® 9.
HIA A NS PEE] (D) Lo
(+45) V= 17.85 = 17.85 m® 17.
IR o ezl = 17.85
i = 0. 00
= 17.85 m°® 17.
o L Y O % vV = 0. 00
HEL = 0. 00
> = 0.00 m° 0.
bS] C #EE + R ) — (Lt + #HE ) /0.9
V= 17.85 — 0.00 /0.9 = 17.85 m°® 17.
TE LR T
T PR (AsHE) L b
(AsH%) V= 8.95 = 8.95 m°® 9.
RISy X IE M &V
(As7%) V= 8. 95 = 8.95 m?® 9,




¥ m I FH " O # (—#2% 1)

war 7Yy —rL

Ear sz )—1rQ@ Em LR REL Y
(18-8-25BB, t=100) A=  67.45 = 67.45 m? 67.5

Far s —h@ i LA EELY
(18-8-25BB, t=100) A=  21.50 = 21.50 m? 21.5




1k ] T i G 5 &
. o v 7Y F O
woas o ow & | BR e e wmom | oW v m o | W FH @ H
(m) (m) (m®) (m) (m) (m®) (m) (m) (m®)

NO. 0 NO.O  + 0. 00 0. 00 0.90
NO. 1 NO.1  + 0. 00 20. 00 1. 00 0.95 19. 00
NO. 2 NO.2  + 0. 00 20. 00 1.20 1. 10 22.00
NO. 3 NO.3 + 0. 00 20. 00 1. 10 1. 15 23.00
NO. 3+3.0 NO.3  + 3.00 3. 00 1.20 1. 15 3. 45
et 63. 00 67.45




N = fets
% i} T FE il T H
W o v 7Y N
W A e B F B OB | WEM B kR | MER E Y B
(m) (m) (m?) (m?) (m?) (m®) (m?) (m?) (m®)
NO. 1 NO.1  +  0.00 0. 00 0. 50
NO. 2 NO.2  +  0.00 |  20.00 0. 50 0. 50 10. 00
NO. 3 NO.3  +  0.00 |  20.00 0. 50 0. 50 10. 00
NO.3+3.0  NO.3  +  3.00 3.00 0. 50 0. 50 1. 50
it 43. 00 21. 50




E o2 v 7 U — b O (100m22% 1) )

Z I /) A " HAL

=27 Y—1FkK V= 100.000 X  0.100 = 10.000 m’ 10. 00
(18-8-25BB, t=100)

H ikt N= 100.000 = ( 1.070 X 10.000 )
vB4h, t=10mm) A= 1.070 X  0.100 X 9.346
MW=FH1. 07m

9.346  f& AT
1.000  m* 1. 00

Rl e A= 100.000 = 1.070 X 0.100 9.346 m”® 9. 35

e




E o v 7 U — F © (100m2% 1)
4 i H H BN 5
=7 Y—Fk V= 100.000 X 0.100 = 10.000 m® 10. 00
(18-8-25BB, t=100)
H ikt N= 100.000 = ( 0.500 X 10.000 ) = 20.000 f&7F
(vB4h, t=10mm) A= 0.500 X 0.100 X 20.000 = 1.000  m? 1. 00
W=FH0. 5m
BiAlp 2t A= 100.000 =+ 0.500 X 0.100 = 20.000 m?® 20. 00




4 % T OFH B & (—#2% 1)

oy — M

Sy -k B LY
(t=100mm) A= 89.50 = 89.50 m’® 89.5
e BT B 0

(RC-40, t=100mm) A=  89.50 = 89.50 m°® 89.5




£ e if] o 7 B b
T => 70 — @ & T B
woas o ow & | BRI w v owmom | oW v w m oM | W ¥ H @ H
(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)

NO. 0 NO.O +  0.00 0. 00 1. 20 1. 20

NO. 1 NO.1 +  0.00 20. 00 1. 40 1. 30 26. 00 1. 40 1. 30 26. 00
NO. 2 NO.2  +  0.00 20. 00 1. 50 1. 45 29. 00 1. 50 1. 45 29. 00
NO. 3 NO.3  +  0.00 20. 00 1. 50 1. 50 30. 00 1. 50 1.50 30. 00
NO.3+3.0  NO.3 +  3.00 3. 00 1. 50 1.50 4.50 1. 50 1. 50 4.50
Bl 63. 00 89. 50 89. 50




=)

(100m224 v )

avh)—k

(21-8-25BB)

(150 x 150 x D6)

77

o

=1

o

)

100100

ix

(RC-40, £=100)

4 i at H BN &=
=7 Y—Fk V= 100.000 X 0.100 = 10.000 m® 10. 00
(21-8-25BB, t=100mm)
B4 A= = 100.000 m? 100. 00
(150 X 150 X D6)
H Hits N= 100.000 =+ ( 1.420 X 10.000 ) = 7.042 fEPT
(554}, t =10mm) SOEEIE EW=1. 42m
A= 1.420 X 0.100 X  7.042 = 1.000  m? 1. 00
BiAlp ot A= 100.000 = 1.420 X 0.100 X  2.000
=  14.085 m? 14. 09




B

(—X40)
SOEMREREE (MR EREE)
L= 31.5 + 0 X 8 = 31.5
[=31.5 : H=0
/)N ELE AP LD
(1) V= 17.85 17.85 m® 17.9
(BGA T~ ST~ B L)
7 INEEE A oy ) — ML Y
(=27 V—1) V1= 89.50 X 0.10 8. 95
(BEA 2~ S~ F 0 L) a7 U —RrDXY
V2= 67.45 X 0.10 6.75
Ear 7 —1r@QLD
V3= 21.50 X 0.10 2.15
17.85 m® 17.9
/N TR Y (AsH) L v
(As7% V= 8.95 8.95 m? 9.0

(DA B~ TEff~ I L)
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(—40)

A:

av 7 U— MLy
89. 50

89. 50

mZ

89.5




